Growth Curve [AB mag]

1 [AB mag/arcsec?]
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NGC5457 APR: m(wl,) = 7.86 + 0.01 APR: wl-w3 =0.89 + 0.01
APR: m(w2,) = 8.49 + 0.01 ASY: wl-w3 =0.88 +0.01
R.A. [J2K]: 210.803925 APR: m(w3,) = 6.97 +0.01 APR: w2-w4 = 1.94 + 0.01
DEC [J2K]: 54.348644 APR: m(w4,) = 6.55 + 0.01 ASY: w2-w4 = 1.96 + 0.01
SEMIMAJOR [arcmin]: 17.15 ASY: m(wl,) =7.86 + 0.01 R, = 18.60’ GAL E(B-V): 0.009
RATIO (a/b): 1.07 ASY: m(w2,) = 8.52 + 0.01 R, = 8.10’ GALA,,: 0.002
P.A. [deg]: 80.00 ASY: m(w3,) = 6.98 + 0.01 R, = 8.60’ GALA,,: 0.001
TYP: SABc ASY: m(w4,) = 6.57 + 0.01 R, = 8.80’
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